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127 1)

Ipéner f(2)=7<>2-2+3=7 nov wyvet, apa A e Cs
Ipéner f(—1)=1< 2-(-1)+3=1 mov wydet, Gpa B € Cr

Ipéner f(0)=—-8<2-0+3=-3 nov dev wyvet, pa I ¢ Cr

1
[péne f Ej +3=4 nov oyvet, dpa A € Ct

A I\)|I—‘

—3)+3=9 nov dev woyvet , apa E ¢ Cr

Ipéner f(-3)=9 < 2-
3 3
[péner f > =02 —+3 0 mov dev oydet, dpa A ¢ Ct

1.27  2)
Ipéner f(3)=1< 3 —3-3-4=1 nov ev o)bet, Gpa A & Cr
Mpéner f(0) =—4 < 0°—3-0—4=—4 ov wyvet, Gpa B e C
Mpéner f(1)=0<1*-3-1-4=0 mov dev woydet, pa I ¢ Cr

Mpéner f(-2) = -6 (-2)" ~3-(-2)-4=-64+6-4=-6 mov
dev woyvet, apa A ¢ Cs

2
Hpénalf(—ljz—ég _lj —3. _lj_4:_§©
3 9 3 3 9

<:>é+1—4=—% mov oyvet, apa E € Cs

[Tpémer f(4)=0<:>42—3-4—4=0 7oV 1oyveL, apa Z € Cy

127  3)

[péne f (4) =2 j{L_i =2 mov woyvet, apa A € Ct

[péne f (—3) =4 iiti =—4 7ov dev 1oyvet, dpa B ¢ Ct
0+2

[péne f (0) =2& 01 =2 7ov dev woyvet , dpo I' ¢ Cr

[péne f (2) =4 % =4 mov 1oyvet, apa A € Ct

-2+2
—2-1

péner f(-2) =0 <= =0 mov woyver, dpa E € Cs

Ipéner f(3) =2 < ? =2 nov dev wyvet, apa Z ¢ Cs



